307F

'

Y/ /Y

Slpl ol g g
S5 g SN e iy
3335 sl et Blajie

WDl o0 ol CSloe D9 Mol olRLIlS L5

g (05) (gan> plol

[ IPRY Sl 515 gl ki 15 5100198 5959 39037

[ \WPY S - i 21 50 ]

EV-ICCR [T WAL L W0 PRI Y

UY"’N o)lo.us 9 dlaxy cu.ﬂ:dn' 3',0 U"*"

oxlas U | aylet 3l | Jgas Shons Sl slgo s,
v ! v a9 gogee 0Ly | )
ol I e e Pl s e | Y
As 4 v ol 9 olpl Grie (2lb g Ja i | T
Yo A Y. adgigcsloles | ¥

[ WAY Jlo ole (yage ]

Db o jlre Dl bilo 1 solaswl

315 ko b ye5 g0l oyl




11-
12-
13-
14-

| cach space. Then mark your answer sheet.
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| Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

Mrs. Harding herself was thin and frail but her son was a sixteen-year-old.
1) unbearable 2) verbose 3) sturdy 4) lethargic
Some tribes still the more remote mountains and jungles of the country.

1) forego 2) inhabit 3) ensue 4) aggravate
The of coffee brought Christine into the small cafe.

1) aroma 2) fragility 3) whim 4) badge

The client our proposal because they found our presentation banal and
unimpressive.

1) recognized 2) emulated 3) hailed 4) rejected
Immediately overcome by for the wrong he had done, I lowered him to the floor
and tried to apologize.

1) remorse 2) charity 3) stubbornness 4) esteem

A health inspector gave instructions on how to correct the problem; we all found
out how to handle the situation.

1) perpetual 2) rudimentary 3) explicit 4) trivial

| the cold I was getting by taking plenty of vitamin C pills and wearing a scarf.

1) vanished 2 )squandered 3) forestalled 4) penetrated

Why would Ian want to claim his inheritance and then give all his money away? It was a
to me.

1) riddle 2) peril 3) glory 4) fragment

He was later accused of writing loan and deposit records, found guilty and

sentenced to three years of imprisonment.

1) essential 2) fraudulent 3) vulgar 4) witty

The question of how the murderer had gained entry to the house the police for

several weeks.

., 1) exhilarated 2) assailed 3) countered 4) perplexed

Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

Scuba divingis a form of underwater diving in which a diver uses a self-contained
underwater breathing apparatus (scuba) to breathe underwater.

Unlike other modes of diving. (11) rely either on breath-hold or on air pumped from
the surface, scuba divers carry their own source of breathing gas, (usually compressed air),
(12) greater freedom of movement than with an air line or diver’s umbilical and longer
underwater endurance than breath-hold. Scuba equipment may be open circuit, in which
exhaled gas (13) the surroundings, or closed or semi-closed circuit, (14)
is scrubbed to remove carbon dioxide. and (15) replenished from a supply of feed gas
before being re-breathed.

1) that 2) on which they 3) which 4) they

1) allowing them 2) they allow 3) allowed them 4) to allow

1) exhausts 2) is exhausted to 3) exhausting 4) be exhausted
1) where the gas breathing 2) which breathes the gas

3) the breathing gas which 4) in which the breathing gas

1) the oxygen is used 2) the oxygen used is

3) uses the oxygen to be 4) used is the oxygen
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Part C. Reading Comprehension
Directions: Read the following three passages and choose the best choice (1),

(2), (3), or (4) that best answers each question. Then mark it on your answer
sheet.

Passage 1

An aircraft or other body that is traveling at supersonic speeds requires a different streamlined
form from that of a subsonic aircraft because it is moving faster than the speed at which the
pressure impulses it creates are propagated in air. Because the pressure waves can no longer be
transmitted ahead of an aircraft moving at supersonic speed, they pile up in front of it, creating
a compression, or shock, wave. Further shock waves are created at the midsection and tail of
the supersonic aircraft. The strength of these shock waves is dependent on the magnitude of the
change in the air’s direction, which in turn is dependent on the sharpness or angle of the
forward tip and other surfaces of the aircraft’s body. Supersonic aircraft thus have sharply
pointed noses and tails and straight, narrow bodies to minimize the intensity of the shock
waves (and attendant drag).

The word “that” in line 2 refers to ---------- !

1) aircraft 2) other body 3) form 4) speed

According to the passage, when an aircraft is traveling at a speed faster than that of the
sound -----=-meeeme,

1) streamlining would be of no actual practical use

2) has to be streamlined the same way as a subsonic aircraft is

3) it produces pressure impulses that move faster than the aircraft itself

4) pressure waves pile up in front of it, creating a compression, or shock, wave

The word “magnitude” in line 6 is closest in meaning to ----------- "
1) focus 2) greatness 3) direction 4) variability
According to the passage, a supersonic aircraft’s sharply pointed nose --------- -

1) is designed so to overcome a problem

2) determines the shape of the tail and the body

3) depends on the angle of the forward tip and other surfaces of the aircraft’s body

4) helps to diminish the adverse effect of the shock waves , but not the attendant drag
What is the author’s attitude towards the subject of the passage?

1) Concerned 2) Unfavorable
3) Uncertain but interested 4) Neutral and objective
Passage 2

The terms human-factors engineering and human engineering are used interchangeably on the
North American continent. In Europe, Japan, and most of the rest of the world the prevalent
term is ergonomics, a word made up of the Greek words. ergon, meaning “work,” and nomos.
meaning “law.” Despite minor differences in emphasis, the terms human-factors engineering
and ergonomics may be considered synonymous. Human factors and human engineering were
used in the 1920s and “30s to refer to problems of human relations in industry, an older
connotation that has gradually dropped out of use. Some small specialized groups prefer such
labels as bioastronautics, biodynamics, bioengineering, and manned-systems technology: these
represent special emphases whose differences are much smaller than the similarities in their
aims and goals.
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The data and principles of human-factors engineering are concerned with human performance,
behavior, and training in man-machine systems: the design and development of man-machine
systems; and systems-related biological or medical research. Because of its broad scope,
human-factors engineering draws upon parts of such social or physiological sciences as
anatomy, anthropometry, applied physiology. environmental medicine, psychology, sociology,
and toxicology, as well as parts of engineering, industrial design, and operations research.

What is the subject of the passage?

1) Origin of a discipline

2) Human-factors engineering

3) Similarities and differences between human-factors engineering and ergonomics

4) The difference in the focal point of human-factors engineering in the early 20™ century and
the present time

The word “prevalent” in line 2 is closest in meaning to ----=------ i

1) specialized 2) previous 3) established 4) conventional

What is the function of paragraph 2 in relation to paragraph 1?

1) It reconciles the differences referred to paragraph 1.

2) It qualifies the definition offered for human-factors engineering in paragraph 1.

3) It provides a function description of what has been introduced in paragraph 1.

4) It compares and contrasts the term used in paragraph 1 with similar terms used in other
branches of human knowledge.

The author refers to a number of other sciences in paragraph 2 in order to --------- .

1) mention a result of the broad scope of human-factors engineering

2) prove the interplay between different branches of human knowledge

3) illustrate the fact that the problems and concerns of all fields of study are similar in essence

4) bear witness to the commonly accepted view that human-factors engineering is not a
genuine scientific discipline

According to the passage, all of the following are TRUE about human-factors engineering

EXCEPT that ---------- .

1) some people use a different set of terms to refer to issues of its concern from was the case in
the 1930°s

2) it is practiced differently in eastern countries than it is western ones

3) it cannot, as a term, be traced to any Greek word

4) it is synonymous with human engineering

Passage 3

Cost of materials plays a very significant role in their selection. The most straightforward way
to weight cost against properties is to develop a monetary metric for properties of parts. For
example, life cycle assessment can show that the net present value of reducing the weight of a
car by 1 kg averages around $5. so material substitution which reduces the weight of a car can
cost up to $5 per kilogram of weight reduction more than the original material. However, the
geography-and time-dependence of energy, maintenance and other operating costs, and
variation in discount rates and usage patterns (distance driven per year in this example)
between individuals, means that there is no single correct number for this. For commercial
aircraft, this number is closer to $450/kg, and for spacecraft, launch costs around $20.000/kg
dominate selection decisions.
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Thus as energy prices have increased and technology has improved. automobiles have
substituted increasing amounts of light weight magnesium and aluminum alloys for steel,
aircraft are substituting carbon fiber reinforced plastic and titanium alloys for aluminum, and
satellites have long been made out of exotic composite materials.

The passage is primarily concerned with ------------ G

1) cost per kg as an important factor in material selection

2) ways to produce cost-effective methods of car production

3) production costs as an impediment in the way of technological advancement

4) comparing and contrasting the production costs of various means of transport
According to the passage, reducing the weight of a vehicle ------------- .

1) relies on its life cycle assessment

2) varies from one brand of car to another

3) requires that we undergo an increase in production costs

4) necessitates the development of a method other than a monetary metric for properties of

parts
The parenthetical information in paragraph 1 is intended to ------------ ”
1) give us a caution 2) cite an advantage
3) prevent any exaggeration 4) define something already mentioned

Which one of the following is cited as a factor enabling manufacturers to put aside
aluminum to use carbon fiber reinforced plastic and titanium alloys in the construction of
aircraft?

1) Maintenance and other operating costs 2) Technological progress
3) Falling energy prices 4) Usage patterns
The word “composite” in paragraph 2 is most related to ------------- 1
1) enhancement 2) fortification 3) presperity 4) amalgamation
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